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Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. brochure	B. challge 	C. choice	D. exchange
Question 2. A. Activate	B. malfunction	C. navigation	D. embassador
	
Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 3. A. tolerate	B. picture	C. computer	D. melody
Question 4.A. implant	     B. involve		      C. expand		      D.athelete	
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 5. Wikipedia, ______ in 2001, is one of the great internet successes.
	A. was lauched	B. lauched	C. lauching	D. was lauching
Question 6. Our hotel was cheaper than all the others in the city
	A. cheap	B. as cheap	C. the cheapest	D. cheaper
Question 7. I will work for my sister’s company ______.
A. after I has graduated from college	       B. before I graduated from college
C. while I was graduating from college	       D. as soon as I had graduated from college
Question 8. His choice of future career is quite similar______mine.
    A. at	     B. with	   C. to	D. of
Question 9. She had had breakfast before she went to school yesterday, ______?
	A. hasn’t she	B. has she	C. had she	D. hadn’t she
Question 10. My parents hope to travel around ______world next summer.
	A. a	B. an	C. the	D. x(no article)
Question 11. Vietnam has a lot of ______ players who won many gold medal in the 31st SEA games.
A. outstretching	      B. outstanding	      C. outlying	      D. outgoing
Question 12. My computer isn’t working- it _______ this morning.
	A. broke into	B. broke up	C. broke out	D. broke down
Question 13: She was looking forward to_______ the grandchildren again.
    A. seeing		    B. see		     C. seen        	     D. saw
Question 14: _______ does not exist yet, but scientists are working hard to create computers that can think like human beings.
    A. Advancement       			     B. Destruction	   
    C. Intervention    				     D. Artificial intelligence
Question 15: The little boy fell asleep while his mother _______ him fairy tales
     A. was reading	     B. reads		     C. read		     D. are reading
Question 16: If I were to _______ a prediction, I'd say that it'll rain this afternoon.
     A. do		     B. take		     C. make		     D. give
Question 17: I am so tired. I need some rest. I think I will take / am going to take a week off 
A. take		        	B. takes	       C. will take	    D. took
Question 18: You should ask for Henry’s advice; he is very _______ about gardening.
     A. knowledgeable	B. knowledge         C. know                   D. knowledgeably
Question 19: They haven't found a cure for the disease yet, but they are on the ________ track.
	A. exact	B. correct               C. Precise                 D. right
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges .
Question 20: Mary is talking to Anne about her new hair style .
Mary: “What an attractive hair style you have got, Anne!” – Anne: “______”
   A. Thank you for your compliment.	B. You are telling a lie.
   C. Thank you very much. I am afraid.	D. Never mind.
Question 21: Peter and Martin are talking about technology
Peter: “ I think robots will replace teachers in the near future”
Martin: “______. We still need teachers to inspire students”
	A. I can say that again	B. You’re right 	
	C. You’re absolutely true	D. I don’t think so

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22: These days, many people only read printed newsapapers once in a while as they tend to access information online.
	A. occationally	B. selectively	C. regularly	D. attentively
Question 23: We shouldn't complain about being poor many families are much worse off.
    A. repeat		     B. praise    		      C. explain     	     D. command

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 24: Polish artist Pawel Kuzinsky creates satirical paintings filled with thought-provoking messages about the world
   A. provocative         B. stimulating	    C. inspirational         D. universal
Question 25: The yearly growth of the gross national product is often used as an indicator of a nation's economy.
   A. tentative    	  B. annual     	   C. irrefutable                D. routine
Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions.
Question 26: It is compulsory for all road users to follow the traffic rules.
A. All road users needn’t follow the traffic rules.
B. All road users may follow the traffic rules.
C. All road users must follow the traffic rules.
D. All road users shouldn’t follow the traffic rules.
Question 27: The last time I updated my Facebook status was three months ago.
      A. I have updated my Facebook status for three months.
B. I haven’t updated my Facebook status for three months.
C. I have three months to update my Facebook status.
D. I had three months to update my Facebook status.
Question 28:  “What would you do if you had three days off?” The teacher asked him.
A. The teacher asked him what he would do if he had three days off.
B. The teacher asked him what he would do if he has had three days off.
C. The teacher asked him what he wouldn’t do if he had three days off.
D. The teacher asked him what he would do if he hadn’t had three days off.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.
Q29: It is said that these good life skills will make the young become more confidential.
    A. become     	B. said			C. confidential	D. these 
 Question 30: The assumption that smoking has bad effects on our health have been proved.
    A. that      		B. effects      		C. on      		D. have been proved
 Question 31: The puppy stood up slowly, wagged their tail, blinked its eyes, and barked.
    A.their		B. The			C. slowly		D. and
 Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions. 
Question 32: My father is not here. He can’t give me any career advice.
	A. If only my father is not here, he can’t give me any career advice. 
	B. If my father hadn’t been here, he could have given me any career advice.
	C. If my father were here, he could give me any career advice.
	D. If my father weren’t here, he could give me any career advice.
Question 33:  I only realized how dangerous the situation had been when I got home
     A. Only when I got home did I realize how dangerous the situation had been
     B. Only if I realized how dangerous the situation had been when I got home
     C. Not only did I realize how dangerous the situation had been when I got home
     D. Only after when I got home do I realize how dangerous the situation had been 
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
It may be that media have made the AI safety debate seem more (34)_______than it really is. After all, fear sells, and articles using out-of-context quotes to (35) _______ imminent doom can generate more clicks than nuanced and balanced ones. (36) _______, two people who only know about (37)______ positions from media quotes are likely to think they disagree more than they really do. For example, a techno-skeptic who only read about Bill Gates’s position in a British tabloid may mistakenly think Gates believes superintelligence to be imminent. Similarly, someone in the beneficial-AI movement (38) _______ knows nothing about Andrew Ng’s position except his quote about overpopulation on Mars may mistakenly think he doesn’t care about AI safety, whereas in fact, he does. The crux is simply that because Ng’s timeline estimates are longer, he naturally tends to prioritize short-term AI challenges over long-term ones.
Question 34: A. controversy 		B. conversational 	C. conversantly       	D. B. controversial 
Question 35: A. repeal.       		C. abolish       		A. proclaim		D. decrease
Question 36: A. As a result       	B. Therefore      	C. Before       		D. However
Question 37: A. others       		B. another       	C. other       		D. none
Question 38:A. when     		B. D. who       		C. what       		D. which  
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
      	Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60 and older, and in 15-20 years the elderly will account for one third of the total population. This raises concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on economic integration and requires a large labor force. So far two solutions have been proposed: to loosen the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the two-child policy the government expects to make up for the ageing population within the next 20 years. But its effect could be creating an uncontrollable boom in the Vietnamese population. When the government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third child birth rate increased remarkably by 7.5 per cent
Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly while creating savings in the pension budget, it also means fewer job prospects and promotion opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture, manufacturing and construction where working above the age of 50 can be dangerous and unproductive. Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.
Question 39: What is the main idea of this reading?
A. Vietnam struggling with ageing population 
B. Stopping the two-child policy in Vietnam
C. Raising the retirement age in Vietnam         
D. How to solve the aging population in Vietnam
Question 40: Which statement is probably TRUE according to the information in the paragraph 1?
A. In 2017, the elderly take up for one third of the total population, this leads to more concerns about healthcare, welfare and pensions for the elderly.
B. In 2015, the two-child policy has been officially tightened and succeeded.
C. The government would promote families to have two children to compensate for the ageing population within the next 20 years.
D. In the next 15-17 years, Vietnam's economy will need a large labor force to integrate with global economy.
Question 41: The word “its" in paragraph 1 refers to ________?
	A. two-Child policy        			   B. aging population    
 	C. retirement age 				   D. economic integration
Question 42: In the 2rd paragraph, the writer suggests that ________.
A. The Ministry of Labor has applied raising the retirement age in May 2017.
B. Raising the retirement age can reduce job opportunities for younger generations.
C. The elderly whose age is 50 would be dangerous if they continued to work
D. Raising the retirement age and stopping two-child policy can be considered as long-term and effective solutions.
Question 43: The word "temporary" in paragraph 2 means ________.
	A. constant 	B. permanent	 C. short-term           D. long-term
There are many mistakes that people make when writing their resume (CV) or completing a job application. Here are some of the most common and most serious.
The biggest problem is perhaps listing the duties for which you were responsible in a past position: all this tells your potential employers is what you were supposed to do. They do not necessarily know the specific skills you used in executing them, nor do they know what results you achieved - both of which are essential. In short, they won’t know if you were the best, the worst or just average in your position.
The more concrete information you can include, the better. As far as possible, provide measurements of what you accomplished. If any innovations you introduced saved the organization money, how much did they save? If you found a way of increasing productivity, by what percentage did you increase it?
Writing what you are trying to achieve in life - your objective - is a waste of space. It tells the employer what you are interested in. Do you really think that employers care what you want? No, they are interested in what they want! Instead, use that space for a career summary. A good one is brief - three to four sentences long. A good one will make the person reviewing your application want to read further.
Many resumes list ‘hard’ job-specific skills, almost to the exclusion of transferable, or ‘soft’, skills. However, your ability to negotiate effectively, for example, can be just as important as your technical skills.
All information you give should be relevant, so carefully consider the job for which you are applying. If you are applying for a job that is somewhat different than your current job, it is up to you to draw a connection for the resume reviewer, so that they will understand how your skills will fit in their organization. The person who reviews your paperwork will not be a mind reader.
If you are modest about the skills you can offer, or the results you have achieved, a resume reader may take what you write literally, and be left with a low opinion of your ability: you need to say exactly how good you are. On the other hand, of course, never stretch the truth or lie.
                                                                                      (Source: www.ielts-mentor.com)
Question 44: Which of the following can be the best title for the passage?
A. The necessary skills for job application.
B. The way how to write the resume for job application
C. The mistakes people make when applying for a job.
D. The common way to make impression in a job interview.
Question 45: The word “excuting” in paragraph 2 is closest in meaning to ______.
A. implementing	B. enumerating	C. determining		D. completing
Question 46: According to the passage, Candidates should include ______ in their resume.
A. Future object		B. previous positions	
C. the past achievement		D. specific skills for previous jobs
Question 47: The word “ concrete” in paragraph 3 could be best replaced by______.
A. Substantial	B. important	C. specific			D. indeterminate
Question 48: What does the word “it” in paragraph 3 refer to?
A. organization money	B. productivity	C. information		D. percentage
Question 49: Which of the following is NOT true according to the passage?
A. Applicants should not apply for a distinct job from what they are doing
B. The information interviewees present should be related to the job they are applying.
C. The abilities to negotiate effectively is as significant as technical skills.
D. Candidates must study the job they are applying carefully before writing the CV.
Question 50: Which of the following can be inferred from the last paragraph?
A. A resume reader is good enough to understand what you imply about your ability in the CV.
B. You are allowed to exaggerate the truth of your competence if possible.
C. You should be modest about what you can do.
D. You should write accurately about your ability for the vacant position.
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Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. brochure	B. challge 	C. choice	D. exchange
Question 2. A. Activate	B. malfunction	C. navigation	D. embassador
	
Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 3. A. tolerate	B. picture	C. computer	D. melody
Question 4.A. implant	     B. involve		      C. expand		      D.athelete	
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 5. Wikipedia, ______ in 2001, is one of the great internet successes.
	A. was lauched	B. lauched	C. lauching	D. was lauching
Question 6. Our hotel was cheaper than all the others in the city
	A. cheap	B. as cheap	C. the cheapest	D. cheaper
Question 7. I will work for my sister’s company ______.
A. after I has graduated from college	       B. before I graduated from college
C. while I was graduating from college	       D. as soon as I had graduated from college
Question 8. His choice of future career is quite similar______mine.
    A. at	     B. with	   C. to	D. of
Question 9. She had had breakfast before she went to school yesterday, ______?
	A. hasn’t she	B. has she	C. had she	D. hadn’t she
Question 10. My parents hope to travel around ______world next summer.
	A. a	B. an	C. the	D. x(no article)
Question 11. Vietnam has a lot of ______ players who won many gold medal in the 31st SEA games.
B. outstretching	      B. outstanding	      C. outlying	      D. outgoing
Question 12. My computer isn’t working- it _______ this morning.
	A. broke into	B. broke up	C. broke out	D. broke down
Question 13: She was looking forward to_______ the grandchildren again.
    A. seeing		    B. see		     C. seen        	     D. saw
Question 14: _______ does not exist yet, but scientists are working hard to create computers that can think like human beings.
    A. Advancement       			     B. Destruction	   
    C. Intervention    				     D. Artificial intelligence
Question 15: The little boy fell asleep while his mother _______ him fairy tales
     A. was reading	     B. reads		     C. read		     D. are reading
Question 16: If I were to _______ a prediction, I'd say that it'll rain this afternoon.
     A. do		     B. take		     C. make		     D. give
Question 17: I am so tired. I need some rest. I think I will take / am going to take a week off 
B. take		        	B. takes	       C. will take	    D. took
Question 18: You should ask for Henry’s advice; he is very _______ about gardening.
     A. knowledgeable	B. knowledge         C. know                   D. knowledgeably
Question 19: They haven't found a cure for the disease yet, but they are on the ________ track.
	A. exact	B. correct               C. Precise                 D. right
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges .
Question 20: Mary is talking to Anne about her new hair style .
Mary: “What an attractive hair style you have got, Anne!” – Anne: “______”
   A. Thank you for your compliment.	B. You are telling a lie.
   C. Thank you very much. I am afraid.	D. Never mind.
Question 21: Peter and Martin are talking about technology
Peter: “ I think robots will replace teachers in the near future”
Martin: “______. We still need teachers to inspire students”
	A. I can say that again	B. You’re right 	
	C. You’re absolutely true	D. I don’t think so

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22: These days, many people only read printed newsapapers once in a while as they tend to access information online.
	A. occationally	B. selectively	C. regularly	D. attentively
Question 23: We shouldn't complain about being poor many families are much worse off.
    A. repeat		     B. praise    		      C. explain     	     D. command

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 24: Polish artist Pawel Kuzinsky creates satirical paintings filled with thought-provoking messages about the world
   A. provocative         B. stimulating	    C. inspirational         D. universal
Question 25: The yearly growth of the gross national product is often used as an indicator of a nation's economy.
   A. tentative    	  B. annual     	   C. irrefutable                D. routine
Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions.
Question 26: It is compulsory for all road users to follow the traffic rules.
A. All road users needn’t follow the traffic rules.
B. All road users may follow the traffic rules.
C. All road users must follow the traffic rules.
D. All road users shouldn’t follow the traffic rules.
Question 27: The last time I updated my Facebook status was three months ago.
      A. I have updated my Facebook status for three months.
B. I haven’t updated my Facebook status for three months.
C. I have three months to update my Facebook status.
D. I had three months to update my Facebook status.
Question 28:  “What would you do if you had three days off?” The teacher asked him.
A. The teacher asked him what he would do if he had three days off.
B. The teacher asked him what he would do if he has had three days off.
C. The teacher asked him what he wouldn’t do if he had three days off.
D. The teacher asked him what he would do if he hadn’t had three days off.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.
Q29: It is said that these good life skills will make the young become more confidential.
    A. become     	B. said			C. confidential	D. these 
 Question 30: The assumption that smoking has bad effects on our health have been proved.
    A. that      		B. effects      		C. on      		D. have been proved
 Question 31: The shopkeeper warned the boy not to learn their bicycles against his windows.
    A.their		B. The			C. against		D. warned
 Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions. 
Question 32: My father is not here. He can’t give me any career advice.
	A. If only my father is not here, he can’t give me any career advice. 
	B. If my father hadn’t been here, he could have given me any career advice.
	C. If my father were here, he could give me any career advice.
	D. If my father weren’t here, he could give me any career advice.
Question 33:  I only realized how dangerous the situation had been when I got home
     A.Only when I got home did I realize how dangerous the situation had been
     B.Only if I realized how dangerous the situation had been when I got home
     C.Not only did I realize how dangerous the situation had been when I got home
     D.Only after when I got home do I realize how dangerous the situation had been 
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
It may be that media have made the AI safety debate seem more (34)_______than it really is. After all, fear sells, and articles using out-of-context quotes to (35) _______ imminent doom can generate more clicks than nuanced and balanced ones. (36) _______, two people who only know about  (37)______ positions from media quotes are likely to think they disagree more than they really do. For example, a techno-skeptic who only read about Bill Gates’s position in a British tabloid may mistakenly think Gates believes superintelligence to be imminent. Similarly, someone in the beneficial-AI movement (38) _______ knows nothing about Andrew Ng’s position except his quote about overpopulation on Mars may mistakenly think he doesn’t care about AI safety, whereas in fact, he does. The crux is simply that because Ng’s timeline estimates are longer, he naturally tends to prioritize short-term AI challenges over long-term ones.
Question 34: A. controversy 		B.conversational 	C. conversantly       	D. B. controversial 
Question 35: A. repeal.       		C. abolish       		A. proclaim		D. decrease
Question 36: A. As a result       	B.Therefore      	C. Before       		D. However
Question 37: A. others       		B. another       	C. other       		D. none
Question 38:A. when     		B. D. who       		C. what       		D. which  
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
      	Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60 and older, and in 15-20 years the elderly will account for one third of the total population. This raises concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on economic integration and requires a large labor force. So far two solutions have been proposed: to loosen the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the two-child policy the government expects to make up for the ageing population within the next 20 years. But its effect could be creating an uncontrollable boom in the Vietnamese population. When the government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third child birth rate increased remarkably by 7.5 per cent
Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly while creating savings in the pension budget, it also means fewer job prospects and promotion opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture, manufacturing and construction where working above the age of 50 can be dangerous and unproductive. Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.
Question 39: What is the main idea of this reading?
A. Vietnam struggling with ageing population 
B. Stopping the two-child policy in Vietnam
C. Raising the retirement age in Vietnam         
D. How to solve the aging population in Vietnam
Question 40: Which statement is probably TRUE according to the information in the paragraph 1?
A. In 2017, the elderly take up for one third of the total population, this leads to more concerns about healthcare, welfare and pensions for the elderly.
B. In 2015, the two-child policy has been officially tightened and succeeded.
C. The government would promote families to have two children to compensate for the ageing population within the next 20 years.
D. In the next 15-17 years, Vietnam's economy will need a large labor force to integrate with global economy.
Question 41: The word “its" in paragraph 1 refers to ________?
	A. two-Child policy        			   B. aging population    
 	C. retirement age 				   D. economic integration
Question 42: In the 2rd paragraph, the writer suggests that ________.
A. The Ministry of Labor has applied raising the retirement age in May 2017.
B. Raising the retirement age can reduce job opportunities for younger generations.
C. The elderly whose age is 50 would be dangerous if they continued to work
D. Raising the retirement age and stopping two-child policy can be considered as long-term and effective solutions.
Question 43: The word "temporary" in paragraph 2 means ________.
	A. constant 	B. permanent	 C. short-term           D. long-term
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Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. brochure	B. challge 	C. choice	D. exchange
Question 2. A. Activate	B. malfunction	C. navigation	D. embassador
	
Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 3. A. tolerate	B. picture	C. computer	D. melody
Question 4.A. implant	     B. involve		      C. expand		      D.athelete	
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 5. Wikipedia, ______ in 2001, is one of the great internet successes.
	A. was lauched	B. lauched	C. lauching	D. was lauching
Question 6. Our hotel was cheaper than all the others in the city
	A. cheap	B. as cheap	C. the cheapest	D. cheaper
Question 7. I will work for my sister’s company ______.
A. after I has graduated from college	       B. before I graduated from college
C. while I was graduating from college	       D. as soon as I had graduated from college
Question 8. His choice of future career is quite similar______mine.
    A. at	     B. with	   C. to	D. of
Question 9. She had had breakfast before she went to school yesterday, ______?
	A. hasn’t she	B. has she	C. had she	D. hadn’t she
Question 10. My parents hope to travel around ______world next summer.
	A. a	B. an	C. the	D. x(no article)
Question 11. Vietnam has a lot of ______ players who won many gold medal in the 31st SEA games.
C. outstretching	      B. outstanding	      C. outlying	      D. outgoing
Question 12. My computer isn’t working- it _______ this morning.
	A. broke into	B. broke up	C. broke out	D. broke down
Question 13: She was looking forward to_______ the grandchildren again.
    A. seeing		    B. see		     C. seen        	     D. saw
Question 14: _______ does not exist yet, but scientists are working hard to create computers that can think like human beings.
    A. Advancement       			     B. Destruction	   
    C. Intervention    				     D. Artificial intelligence
Question 15: The little boy fell asleep while his mother _______ him fairy tales
     A. was reading	     B. reads		     C. read		     D. are reading
Question 16: If I were to _______ a prediction, I'd say that it'll rain this afternoon.
     A. do		     B. take		     C. make		     D. give
Question 17: I am so tired. I need some rest. I think I will take / am going to take a week off 
C. take		        	B. takes	       C. will take	    D. took
Question 18: You should ask for Henry’s advice; he is very _______ about gardening.
     A. knowledgeable	B. knowledge         C. know                   D. knowledgeably
Question 19: They haven't found a cure for the disease yet, but they are on the ________ track.
	A. exact	B. correct               C. Precise                 D. right
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges .
Question 20: Mary is talking to Anne about her new hair style .
Mary: “What an attractive hair style you have got, Anne!” – Anne: “______”
   A. Thank you for your compliment.	B. You are telling a lie.
   C. Thank you very much. I am afraid.	D. Never mind.
Question 21: Peter and Martin are talking about technology
Peter: “ I think robots will replace teachers in the near future”
Martin: “______. We still need teachers to inspire students”
	A. I can say that again	B. You’re right 	
	C. You’re absolutely true	D. I don’t think so

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22: These days, many people only read printed newsapapers once in a while as they tend to access information online.
	A. occationally	B. selectively	C. regularly	D. attentively
Question 23: We shouldn't complain about being poor many families are much worse off.
    A. repeat		     B. praise    		      C. explain     	     D. command

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 24: Polish artist Pawel Kuzinsky creates satirical paintings filled with thought-provoking messages about the world
   A. provocative         B. stimulating	    C. inspirational         D. universal
Question 25: The yearly growth of the gross national product is often used as an indicator of a nation's economy.
   A. tentative    	  B. annual     	   C. irrefutable                D. routine
Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions.
Question 26: It is compulsory for all road users to follow the traffic rules.
A. All road users needn’t follow the traffic rules.
B. All road users may follow the traffic rules.
C. All road users must follow the traffic rules.
D. All road users shouldn’t follow the traffic rules.
Question 27: The last time I updated my Facebook status was three months ago.
      A. I have updated my Facebook status for three months.
B. I haven’t updated my Facebook status for three months.
C. I have three months to update my Facebook status.
D. I had three months to update my Facebook status.
Question 28:  “What would you do if you had three days off?” The teacher asked him.
A. The teacher asked him what he would do if he had three days off.
B. The teacher asked him what he would do if he has had three days off.
C. The teacher asked him what he wouldn’t do if he had three days off.
D. The teacher asked him what he would do if he hadn’t had three days off.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.
Q29: It is said that these good life skills will make the young become more confidential.
    A. become     	B. said			C. confidential	D. these 
 Question 30: The assumption that smoking has bad effects on our health have been proved.
    A. that      		B. effects      		C. on      		D. have been proved
 Question 31: The puppy stood up slowly, wagged their tail, blinked its eyes, and barked.
    A.their		B. The			C. slowly		D. and
 Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions. 
Question 32: My father is not here. He can’t give me any career advice.
	A. If only my father is not here, he can’t give me any career advice. 
	B. If my father hadn’t been here, he could have given me any career advice.
	C. If my father were here, he could give me any career advice.
	D. If my father weren’t here, he could give me any career advice.
Question 33:  I only realized how dangerous the situation had been when I got home
     A. Only when I got home did I realize how dangerous the situation had been
     B. Only if I realized how dangerous the situation had been when I got home
     C. Not only did I realize how dangerous the situation had been when I got home
     D. Only after when I got home do I realize how dangerous the situation had been 
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
It may be that media have made the AI safety debate seem more (34)_______than it really is. After all, fear sells, and articles using out-of-context quotes to (35) _______ imminent doom can generate more clicks than nuanced and balanced ones. (36) _______, two people who only know about (37)______ positions from media quotes are likely to think they disagree more than they really do. For example, a techno-skeptic who only read about Bill Gates’s position in a British tabloid may mistakenly think Gates believes superintelligence to be imminent. Similarly, someone in the beneficial-AI movement (38) _______ knows nothing about Andrew Ng’s position except his quote about overpopulation on Mars may mistakenly think he doesn’t care about AI safety, whereas in fact, he does. The crux is simply that because Ng’s timeline estimates are longer, he naturally tends to prioritize short-term AI challenges over long-term ones.
Question 34: A. controversy 		B. conversational 	C. conversantly       	D. B. controversial 
Question 35: A. repeal.       		C. abolish       		A. proclaim		D. decrease
Question 36: A. As a result       	B. Therefore      	C. Before       		D. However
Question 37: A. others       		B. another       	C. other       		D. none
Question 38:A. when     		B. D. who       		C. what       		D. which  
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
      	Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60 and older, and in 15-20 years the elderly will account for one third of the total population. This raises concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on economic integration and requires a large labor force. So far two solutions have been proposed: to loosen the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the two-child policy the government expects to make up for the ageing population within the next 20 years. But its effect could be creating an uncontrollable boom in the Vietnamese population. When the government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third child birth rate increased remarkably by 7.5 per cent
Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly while creating savings in the pension budget, it also means fewer job prospects and promotion opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture, manufacturing and construction where working above the age of 50 can be dangerous and unproductive. Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.
Question 39: What is the main idea of this reading?
A. Vietnam struggling with ageing population 
B. Stopping the two-child policy in Vietnam
C. Raising the retirement age in Vietnam         
D. How to solve the aging population in Vietnam
Question 40: Which statement is probably TRUE according to the information in the paragraph 1?
A. In 2017, the elderly take up for one third of the total population, this leads to more concerns about healthcare, welfare and pensions for the elderly.
B. In 2015, the two-child policy has been officially tightened and succeeded.
C. The government would promote families to have two children to compensate for the ageing population within the next 20 years.
D. In the next 15-17 years, Vietnam's economy will need a large labor force to integrate with global economy.
Question 41: The word “its" in paragraph 1 refers to ________?
	A. two-Child policy        			   B. aging population    
 	C. retirement age 				   D. economic integration
Question 42: In the 2rd paragraph, the writer suggests that ________.
A. The Ministry of Labor has applied raising the retirement age in May 2017.
B. Raising the retirement age can reduce job opportunities for younger generations.
C. The elderly whose age is 50 would be dangerous if they continued to work
D. Raising the retirement age and stopping two-child policy can be considered as long-term and effective solutions.
Question 43: The word "temporary" in paragraph 2 means ________.
	A. constant 	B. permanent	 C. short-term           D. long-term
There are many mistakes that people make when writing their resume (CV) or completing a job application. Here are some of the most common and most serious.
The biggest problem is perhaps listing the duties for which you were responsible in a past position: all this tells your potential employers is what you were supposed to do. They do not necessarily know the specific skills you used in executing them, nor do they know what results you achieved - both of which are essential. In short, they won’t know if you were the best, the worst or just average in your position.
The more concrete information you can include, the better. As far as possible, provide measurements of what you accomplished. If any innovations you introduced saved the organization money, how much did they save? If you found a way of increasing productivity, by what percentage did you increase it?
Writing what you are trying to achieve in life - your objective - is a waste of space. It tells the employer what you are interested in. Do you really think that employers care what you want? No, they are interested in what they want! Instead, use that space for a career summary. A good one is brief - three to four sentences long. A good one will make the person reviewing your application want to read further.
Many resumes list ‘hard’ job-specific skills, almost to the exclusion of transferable, or ‘soft’, skills. However, your ability to negotiate effectively, for example, can be just as important as your technical skills.
All information you give should be relevant, so carefully consider the job for which you are applying. If you are applying for a job that is somewhat different than your current job, it is up to you to draw a connection for the resume reviewer, so that they will understand how your skills will fit in their organization. The person who reviews your paperwork will not be a mind reader.
If you are modest about the skills you can offer, or the results you have achieved, a resume reader may take what you write literally, and be left with a low opinion of your ability: you need to say exactly how good you are. On the other hand, of course, never stretch the truth or lie.
                                                                                      (Source: www.ielts-mentor.com)
Question 44: Which of the following can be the best title for the passage?
E. The necessary skills for job application.
F. The way how to write the resume for job application
G. The mistakes people make when applying for a job.
H. The common way to make impression in a job interview.
Question 45: The word “excuting” in paragraph 2 is closest in meaning to ______.
B. implementing	B. enumerating	C. determining		D. completing
Question 46: According to the passage, Candidates should include ______ in their resume.
B. Future object		B. previous positions	
C. the past achievement		D. specific skills for previous jobs
Question 47: The word “ concrete” in paragraph 3 could be best replaced by______.
B. Substantial	B. important	C. specific			D. indeterminate
Question 48: What does the word “it” in paragraph 3 refer to?
B. organization money	B. productivity	C. information		D. percentage
Question 49: Which of the following is NOT true according to the passage?
E. Applicants should not apply for a distinct job from what they are doing
F. The information interviewees present should be related to the job they are applying.
G. The abilities to negotiate effectively is as significant as technical skills.
H. Candidates must study the job they are applying carefully before writing the CV.
Question 50: Which of the following can be inferred from the last paragraph?
E. A resume reader is good enough to understand what you imply about your ability in the CV.
F. You are allowed to exaggerate the truth of your competence if possible.
G. You should be modest about what you can do.
H. You should write accurately about your ability for the vacant position.

